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1 [FFX F —f8 4 14 fZ)I| 10.66
EEEESS IR R 4 14 fZ)I| 11.26
3 |BEEX bt K 2 14 fZ)I| 11.04
4 |BEFX EH @AER 1 14 fZ)I| 11.66
5 |E¥XkR SH R M1 14 fZ)I]| 10.63
6 |FREMK Rl B2 1 13 I 11.30
7 BEMX JnfE BEth 1 14 fZ)I]| 11.54
8 |BEMK Bt AlX 2 13 I 11.66
9 |[BEMX EBE RFEH 2 14 fZ)I| 11.50
10 [#EMKEE L% o D3 09 #r K 11.16
11 [ZFEREX H HX 1 11 X 11.18
12 [ZEREX JbiE E 1 14 fZ)I| 11.04
13 [ZFEREX BE KT 2 111 X 11.32
14 [ZFERKX IEH RiE 2 111 % 11.40
15 [ZFERKX HFA K& 3 13/ I 11.21
16 [ZFERK B A 3 12F F 10.79
17 [#FEIIX FE Kk 2 14 fZ)I] 11.09
18 [#ZEJIIK ZH B 3 14 fZ)I] 11.59
19 |4 mJlljc WA F|FE 4 14 fZ)I] 10.70
20 [BX MR #E 1 RN 11.24
21 |BX iRE 2B 2 13 &= 10.89
22 |BX RAE &— 2 13F = 10.67
23 |BX A X 3 14 fZ)I] 10.74
24 |BX EH EA 3 13 &= 10.80
25 X =H r'ﬁJ;l 2 108 B 11.20
26 [BEX TE = 1 108 B 11.70
27 [BX 2H BN 1 108 B 11.55
28 |BEKkR ﬂaﬂﬂ =5 M1 10 B 11.40
29 | T%PE VN 1 13/ &= 11.40
30 | T=fE A o 2 13/ &= 12.00
31 | THx F & 1 13/ &= 12.00
32 | THPE Em AT 1 108 & 11.60
33 | T%PE X Eth 2 13H &= 11.70
34 |IT#¥E FH BER 3 14 fHZE)I] 11.70
35 |THFEXK :L.\“& N 2 13 &= 11.20
36 |EZ[E ¥ BB 2 14 fHZE)I] 11.46
37 EE2E XA B 2 13/ &= 11.01
38 |EEREX MRk BEE 2 108 & 11.57
39 EERREX JIIE =Rk 2 14 #ZE]| 11.35
40 |EEEX GE Fn 2 09 K 11.93
41 BEEREX 2 XF 3 13F &= 11.33
42 BEEREX EEE T 3 12 F & 11.76
43 |[EERX Bl B 1 138K = 11.60
44 EEX B R 1 12F % SoEREL
45 EERX F& Rk 1 2% [ 10.90
46 |[EERX = 3-t 1 4 K »n 11.12
47 |[EERX BEX ek 2 06 LI #2 11.30
48 |[EEX R BE 2 108 & 11.16
49 |[EERX TE X 2 2% [ 11.12
50 |EEX A RE 2 02F &# 10.61
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51 [EERX T8 KiE 2 12 F I 11.17
52 [ERX g =5 2 02F & 11.05
53 |[EHX il $hth 2 12F F 11.15
54 |[EERX g Kih 3 22 &% 10.82
55 |EEX EERA BfE 3 09 #r K 10.83
56 |EHX Frh X 3 23 A0 11.05
57 [EEX EBE B 3 45 = 3 SOEREEL
58 |[EEKX JI[A ERER 3 09 #F K 11.36
59 |EEX b Ead PN 3 20E &% SOEREEL
60 [EEX P& IREE 3 12F F SOEREEL
61 |[BEEKX BE BN 3 111 X 11.06
62 |IBEEKX MR BX 5 111 X 10.61
63 |1EFIEX AR S 1 08 & 3 10.72
64 |1EFEX B ®F 3 09 #5 K 10.88
65 |[HLoASE mE 1T 4 13/ I 12.66
66 |EEK T &t 1 22 &% 11.39
67 |E&X Fh K 2 19 1 %Y 11.76
68 |E#EK M= 2 14 fZ)I]| 11.58
69 |BHEK Xt #N 3 1B X 11.03
70 [dAEK NS B 2 02F & 11.00
71 K Bfk ESH 2 12F F 11.00
72 AKX FE FE 2 4 K H 10.99
73 AKX KA S8 2 23F 4N 10.90
74 AKX JEE £Eh 2 11 x 11.05
75 |H#AEK aH KE 2 0748 B 11.00
76 [FEK =2t BE 2 228 @ 10.99
77 AKX Ee B 2 nix x 10.70
78 | EHEX TH OBH 1 13/ &= 11.90
79 [ EFEX HE # 1 13H &= 11.20
80 |EFEX Mk R 2 14 fHZE)I] 11.45
81 |FEX 18 @3 2 14 fHZ)I] 11.70
82 |EEX B 2 11 x 11.40
83 | EEX WE [EBR 2 14 ]I 11.50
84 |EEX =H 2% 3 13/ &= 10.99
85 |EEX 7 HRiE 4 13H &= 11.50
86 |EEX & 4 14 fHZE)I] 11.83
87 | EEX &RE # 2 108 B 11.27
88 |[EEAEAEX FE IS 1 028F #& 10.93
89 |[EEmEX Tk BX 1 1M1z E 11.50
90 [EEREX WO #iK 1 1Mz x 11.60
91 |EEREX 25 EE 1 13 &= 11.30
92 [EEAEX BH# X 1 12F F 11.30
93 |EEmE X R & 1 12F FE 11.35
94 [EEMIAEX R R 1 12F F 11.35
95 |[EERAEX BAX B 1 08 & i 10.89
96 |E&iEXK A& H2 2 12 F E 11.50
97 |E&AEXK Fis & 2 138 = 10.90
98 |E&ABXK EL 2 13K X 11.50
99 |E&AEXK BE % 2 06 LI 2 11.00
100 [EEAIE& X IR — Bk 2 1% £ 10.85
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101 [BEAIB X JIIZA 38 XBR 2 1M1E E 10.60
102 B &K e E— 2 13 = 10.90
103 (BB XK EX Eth 2 1115 X 10.77
104 (BRI B X =5 Bk 2 15% & 11.50
105 (B EX BK BE 2 22 5% [ 10.90
106 (BB XK FAREEZPN 2 12 F EF 11.00
107 [EEmE XK &k H|EB 2 1B % 11.00
108 (BB XK FE 1 2 1M1 X 11.00
109 [EEmEX WK E 3 20E & 11.50
110 BRI AKX BR SE 3 09 #5 K 11.40
111 [EgE X B —%F 3 12 F E 11.00
112 [Eg AKX B BX 3 06 LI 2 11.30
113 |[piEX %ﬁ%v e 1 5% & 11.50
114 |BEEX RA 58 3 12F F 11.40
115 [EmK 2K HZE 1 13/ I 11.40
116 |EImK R ER 2 12 F E 12.50
117 [BmK WH thEE 2 22 &% M 11.46
118 |EmK #HE # 3 23 A 11.06
119 [BlffEX A =& 3 13H = 11.18
120 |[ElffEX AH EZ 2 13H = 11.40
121 [BlffEX wE KA 1 27 X IR 11.80
122 |ElffEX B¥ —i& 1 13H &= 10.94
123 | SRR AR ’E_J 2 08 & I 11.91
124 | SIBEX H BEA 2 211 B 11.61
125 | SRR E,&' FEh 3 20K % 11.12
126 |EJIIK aH Bk 1 13 &= 11.70
127 [EIIX ;Eiifn R 1 1M £ 11.01
128 [EJIIK WO ks 3 13/ &= 12.12
129 |[FEJIXK ¥0O Mm 3 1M1z x 11.08
130 [ X BEiE W 1 13F &= 11.40
131 [FK ]} EF 1 13/ &= 10.94
132 [ K )l B 1 12F F 11.10
133 [fK JIIE E5F 4 20E % 10.50
134 [5REXK B & 1 43 B8 K 10.91
135 [FEX AH FH 1 22%% [ 10.81
136 |HEREK WiE B2 1 02F & 10.92
137 |/EXK = A 1 14 ]I 11.92
138 |HFEREK EAX 5% 2 19 1y 3 11.10
139 |FEXK by ) 2 13H &= 11.06
140 |[TFRERK aF %5 2 1M1z x 11.47
141 [FEX [k - 2 108 & 11.24
142 |FEXK it F#Hib 3 30 ﬂmm 11.97
143 |FEFEX iR 2 1 1838 = 11.40
144 |EdEX =8 XH 2 03 & ¥ 11.80
145 |E@EXK Hh =i 2 138 = 10.98
146 |[HEtEXR WA EF 2 14 MZE)I| 11.19
147 |BX Al HA 1 11 B E 11.70
148 |EEXK FamE E— 1 13K X 12.63
149 |EX EEEN 1 12 F E 11.70
150 |FX #BAR Bt 2 22 8% [ 12.40
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151 |EX SH A 3 29% B 11.64
152 |HX WA K 3 31E W 11.06
153 | KRk INAR HIR M2 23% 4N 11.50
154 RS K NHE ¥ 1 22 &% 12.50
155 |ERE4K ZJR Hsh 1 3511 A 11.80
156 |EHESNX INE 28 1 094 K 11.94
157 [RESNXK INE BB 1 19 1y 3¢ 11.99
158 |4 K ki EXE 1 13 = 12.00
159 |4 K &% =R 1 1818 #H 12.00
160 |ERmHK FEK 1% 1 12F F 12.00
161 |HEHK RE BT 2 46 ERE 12.00
162 |EHEHSNX T=EA 2 37&F I 12.00
163 |4 K k& Kig 2 211 B 12.00
164 |HFEKX INE & 3 13/ I 11.69
165 |HZFX s fX 2 01 dtimE 11.31
166 |R=FXK BRIl E 2 20K 57 10.71
167 |HZEX AR WE 2 46 ERE 11.03
168 |R=¥FXK m 3 108 & 11.30
169 |R=FXK BHA ETF 3 B E 1B 11.15
170 |REEXK &5 EX 1 13 &= 11.60
171 |[FEEX 3i+n BA 1 5% 8 12.30
172 |REEX FEX BE 2 15% 8 11.70
173 X ER IFE 2 14 #HZE JII 11.10
174 X EH BN 2 1B E 10.98
175 |EHEX EETEEPN 2 11 15 £ 11.70
176 |REEX B HIXK 3 228 M 12.00
177 |FE#EX =N 3 13 &= 10.68
178 |REKX ik EH 1 133 = SoEREEL
179 [#fmK IoT fh 1 13/ &= 12.00
180 &K a2 55 1 14 #8)1| 11.80
181 [#fmK FH RA 1 13/ &= 11.90
182 |#ftK WA Stk 2 14 21| 12.10
183 |[#fmK ZE B2 2 14 21| 11.97
184 |#fTK =Z B 2 14 #ZE])| 12.00
185 |HEKX FiE ZEaR 1 23F 40 11.89
186 |[HEX A X 1 30 #ngrLL 11.22
187 |REKX EER St 1 108 B 11.30
188 |HETI X B8 = 3 13 &= 12.23
189 |[HETIT X ,.a;k & M2 13 &= 11.32
190 |FETI KX s WM& 3 13H &= 11.40
191 |FETI KX Wk & 4 B8 E 12 11.09
192 [HET X e EA 2 08 & IR 11.24
193 |FETI X il FIR 2 138 &= 11.73
194 [FREX JUR BS 1 138 = 11.55
195 |HEX DiF EBh 1 13K X 11.71
196 |HIEXK BHAR BEth 1 08 & I 11.70
197 |HREX ZH HE 1 13F &= 10.99
198 |FREX AT 1 138 &= 11.20
199 |HIEX AKX IR 1 12F = 12.00
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200 [ERIEX A K 1 13 &= 11.20
201 |EHEX felE B 1 12 F E 11.60
202 |FHRIEX HE BEA 2 13 = 10.90
203 |FHRIEX L3k K 2 13 = 12.00
204 |[FRIEX WA #hF] 2 13 I 11.50
205 |FREX BEH £ 2 108 & 11.10
206 |FRIEX KHEH —JE 2 24= & 12.00
207 |FREX EH = 2 12 F EF 11.04
208 |FRIEK EK HIR 3 13 I 11.90
209 [FRIEX HE EX 3 14 fZ)I]| 10.95
210 [FREX fEF SERE 3 14 fZ)I] 10.51
TESESN ISP 1 08 & 3k 11.20
212 [FEKX ER EH 3 111 % 11.20
213 |[FEKX FN A 2 13/ &= 11.05
214 |[FEKX EER 2 11315 % 11.20
215 |HEKX dtf FHX 2 43 fE X 10.67
216 |HEKX ¥R shE 2 5% 8 11.15
217 |HEKX HE §F 3 06 I 2 10.98
218 |FEK K 3 1B F 11.01
219 |FEFEX skt $ 4 13F = 11.30
220 |B{AXK BE3H TI—Ef 3 14 #Z])N| 11.08
221 |BRX Wi ZEXx 2 12 F FE 10.87
222 [BI&AX JEM BAZ 3 40 12 [ 10.87
223 |BiAK AT EE2 3 2= & 10.94
224 |—18 HIE $Rth 4 13F &= 11.50
225 |—8BX e B 3 13 &= 10.76
226 |—#8 JEEE SLAER 3 13/ &= 11.80
227 |—8 BI EL 3 40 12 ¥ 11.56
228 |—#48 Tk jcﬁ 2 13/ &= 11.35
229 |XHK KA BN 4 1M1z E 12.00
230 [sEX =58 $=- 1 11 x 11.48
231 &K JIiA £ 1 14 #ZE]| 10.62
232 |KEX w5z RE 1 1M1z E 11.20
233 | HKEX Hik 2 12F F 11.94
234 [ KEX He BEE 2 1M £ 11.97
235 |BAZX X JF8h 1 14 #Z])1| 10.84
236 |BHZ K =k i 1 14 #Z])1| 11.50
237 |BHZ X aF #X 1 14 fHZ I 11.51
238 |BAZ X I 28 2 13H &= 11.10
239 |BHZ X B EA 2 19 1y 3 11.20
240 |BAZ K bR Ei 3 14 fHZ JII 10.90
241 |BAZX HE K— 4 14 #Z]1| 11.30
242 [BAZX RE HS 4 14 #Z=]I| 10.86
243 |BAK XH EA 1 31 E H 10.80
244 [BAK E# = 1 26 I #B 11.97
245 |BHX hig K& 1 22 %% M 11.30
246 |BAX BN = 1 40 12 [ 10.70
247 |BAX ) EBA 1 20K % 11.30
248 |EAX = uu&y 2 MR B 11.00
249 [BAK 138 % 2 14 I 11.30
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250 [BAK BEA KT 2 24= & 11.80
251 |BAX B K 2 1818 #H 10.70
252 |BAK hEF EF 2 22 8% [ 11.30
253 |BAK BE BN 3 22 8% [ 11.30
254 |BRREX BA #HE 3 12 F EF 11.53
255 [IUFIZK BA £t 1 19 1 %Y 11.51
256 ETEEPN ik KEE 1 19 1 Y 11.35
257 ETEEPN 2H EA 3 19 1 Y 11.06
258 [#mhX TH BAER 1 14 fZ)I]| 12.00
259 |#th K 211 FE— 1 178 11.90
260 |[#th X e Z‘Eﬁi 2 23% 4N 11.70
261 |[#EEX FE WiE 1 14 fZ)I| 11.05
262 |31 K #E BX 2 13/ &I 11.35
263 |31 K A fin 2 14 #HZE)| 12.00
264 [3T K 2| FE 2 111 E 11.20
265 |3 K Hig it 3 13/ I 11.43
266 [T K % L8 3 12F F 11.30
267 |3 K B RE— 3 13 = 11.01
268 AKX Z—Lt #*%—EA 2 08 & i 10.62
269 |EEX B=E 3 3 08 & I 10.70
270 X IME B 2 11 x 11.15
2711 |HJ{X AREA RAER 1 0352 F 11.90
272 | REERKXZE Ey E 1 1% F 11.35
273 i—:jc ARER 2 3 11 E 10.90
274 mEX BB shE 2 12F F 11.20
275 %B%ETE”F%‘ EK EilE 2 13FEE 12.05
276 |#FTES KF [z 2 13HE 12.36
277 |BFES A AER 1 13HRE 12.29
278 |#FTES ik [EES 1 13HRE 12.70
279 |#FES il & 1 13EERE 11.90
280 |#FTES FE 1 13FFRE 11.68
IIES = RIE X 3 13FFRE 10.29
282 |HHEE R #X 3 13FERE 10.85
283 |JI#ER B #a8 2 11BE 11.60
284 |JII#%EE FiE Kig 2 11 5E 13.11
285 |JII#ER Br EBE 1 11BE 12.53
286 |JII#%EE T GBEX 1 11 5BE 12.74
287 |JIfiE GA 5E 1 111BE 12.40
288 |JIIFAER YEiT  F0Ek 1 11 13E 12.44
289 |JI#ER EX HE 1 11BE 12.69
290 |JIIBER Rl IEE 1 11 13E 11.69
291 |JI#ER L B 1 111BE 12.41
292 |JI#EER =) FHARER 1 115E 12.00
293 |JI#EER Gt i@t 1 111BE 12.20
294 |JI#ER EE BH# 1 11BE 12.99
295 GAEKRIOER ZHEY RE 2 14 fZ )] 11.40
296 AKX IER aillll BE{R 1 13 HE 11.50
297 EXIER a8 KEf 1 13 R 11.90
298 EXIER g B2 1 13 R 11.70
299 |JEKIOER =5+ Bk 1 09 #EAK 11.43
300 [FAKXIOER FB B 1 13 Fi 11.80
301 |EFE=ME =)l BH 3 14 #Z=]I| 11.04
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302 EE=MNE oEE EA 6 14 #HZE)| 11.13
303 |FEFE=MHE B OEE 5 14 #HZE)| 12.00
304 | BMENFS BEE 2 13FER 11.82
305 |#ESNFE 2% 2 13 FiX 11.62
306 |HESDFS i i 2 13FER 11.62
307 |#ELSFE WT th 2 13FER 11.15
308 #HELDFE ZEH oFE 1 13FER 11.73
309 HMELFE Sl & 1 13FER 12.73
310 |HMELFS Fik KER 1 13FER 12.49
311 | BESFES mill &X 1 13FER 12.39
312 |#MELFS R f 1 13FEE 11.89
313 [#BHAS M+ FH— 2 13FEE 11.90
314 FIBHAS i - 1 13FEE 11.84
315 FIBHLAS B 2N 1 13FEE 12.91
316 | B XM IRE =XKER 3 11BE 11.30
317 [BEKTF e BA 108 10.99
318 |#AAKREER Sl 5 09 #FAR 11.50
319 | BEENE #}AR BX 1 13FEE 11.49
320 |[HLoASE Tl ERER 2 13FEE 14.24
321 [HLoAEHE AR HAER 2 13FEE 12.28
322 [ YL AEE £k EBE 2 13FE 13.02
323 |[HLoASE FE BE 2 13FEE 12.60
324 [HLOAEE ¥H HhHE 2 13FEE 12.98
325 |FEKME iRk —If M 08 &k 11.96
326 |HappinessAC T FHE 2 14 #Z]I| 11.86
327 |HappinessAC TRIF 8K 2 14 #AZI| 12.56
328 |[H20 KE BN 14 #Z])1| 11.53
329 |JIlFIbE NFEFE M 3 14 21| 11.18
330 |WAVE TC TE IEN 14 21| 10.99
331 |hAK HE #X 1 13 /K 11.19
332 |AA=Ed%H g Bz 1 13HRE 12.03
333 |#=Eh%E A #HE 1 13HRE 11.55
334 RS INEIK A 1 13HRE 12.10
335 RS Nk iR 1 13HE 12.10
336 |REES BAR = 1 13EE 12.80
337 |BES A E—H 1 13HRE 12.80
338 ifERIES 58 % 3 13HR 11.08
339 ifERIES =t8 B 2 13HRE 11.90
340 ifERIES 2= K 2 13HR 11.21
341 HEEES EA) X 2 13HRE 11.65
342 HfEEES = EE 2 13HRE 11.59
343 ifERIES A &— 2 13HRE 11.44
344 iERES W+ T8 1 13 HE 12.19
345 |fEEES BA = 1 13 B 11.68
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1 [FFEX =H RE 3 14 B=)1| 22.12
2 |E¥X hir X 2 14 fZ)I| 22.39
3 |[F¥X R E=1 2 14 fZ)I]| 22.15
4 |FEFX W &2 1 13 I 23.08
5 |E¥XK BH =E 1 14 fZ)I| 22.66
6 |EFKR HH AR M1 14 fZ)I| 21.48
17 |FEX EH AR 1 14 fZ)I] 23.30
8 |BEMK Rl B2 1 13 I 23.00
9 |[BEMX EAR EF 1 14 fZ)I]| 23.30
10 [#HEMK Bt EIX 2 13/ = 23.80
11 [ZFERX 1E mEE 1 14 fZ)I] 22.80
12 [ZEBREX BE KT 2 11 £ 23.00
13 [ZFERK HFA K& 3 13/ &I 22.44
14 [#F)IX A5 KER 2 14 fZ)I]| 22.90
15 [#FI)IX TR #BA 3 14 fZ)I| 23.24
16 |[BX MR #E 1 4L B 22.36
17 [BX KHE EE3 1 2 K IF 21.86
18 [EBX A7 thiE 2 14$$ =)l 22.26
19 [BX ik B 2 452 22.50
20 |BX A X 3 14 #8=)1| 21.39
21 |BX TH EA 3 13 &= 22.00
22 |BX ZEH IKE 3 108 B 22.10
23 |#X B EX 2 108 & 22.20
24 |BX ZH mE 2 108 B 22.50
25 |EEKME a2 M1 108 & 23.04
26 |T¥% M BER 3 14 #Z])1| 23.70
27 |EZ R RH KA 1 14 #8)1| 22.38
28 |EIZ % FE B 2 138 F 22.21
29 B2k AE Fin 2 094 K 23.86
30 [EEX Tk H#t 1 02E & 21.45
31 |[EEX EED SER 2 07fE B Ok EL
32 |[EEX TE #X 2 22 %% M Ok EL
33 |BEEKX A _EBX 5 1ME E 21.63
34 [HLAEE mE 217 4 13F &= SoEREL
KR PN Xt N 3 11 E 22.65
36 ALK a3 KB 2 0718 B 22.10
37 AKX EBAN 5% 2 05 ¥ H 22.26
38 ALK B2 B 2 1% E 21.30
39 | EEX TH OBH 1 13/ &= 24.00
40 [ EFEX HE F 1 138 &= 22.40
41 [ EFEX B [E 2 1B E 22.49
42 [ EEBX WE 188 2 14 #5511 23.00
43 | EEX il N 4 138 &= 23.00
44 |EEB XK ML KB 1 12 F E 22.80
45 [EERAEXK B 58 1 08 & 23.50
46 |EEMB XK Tk KB 1 05 # H 22.20
47 |BERBX 2/ K 1 12F F 22.50
48 |E&EEXK FH WK 2 08 & I 22.80
49 |EEBXK HEr % 2 06 LI 2 21.70
50 |E&iEXK N ETT 2 1% E 22.70
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51 |EEm& EX Eth 2 1% E 22.14
52 |EEm& Sl #g 2 1B E 22.00
53 |BEm& FAREEZ PN 2 12 F EF 21.82
54 |BEE =l EA 2 12 F EF 22.40
55 |BE& AR IRt 2 R EES 22.50
56 |BEAI& HH iEth 3 08 & I 22.90
57 |BEmE WA E 3 20K % 23.90
58 |BE& B —F 3 12 F EF 21.80
59 |B&AE NE B 3 S EES 23.00
60 |BEAIE BHE ® 3 12 F EF 22.36
61 |EEAI& HiE BX 3 06 LI #2 22.90
62 |EEIE fHL BEAER 3 12F F 21.80
63 BRI & wBiE A 3 08 & 3 23.50
64 |RREEX i = 1 5% 8 23.50
65 |EUEEK ¥ &t 1 13 &= 23.80
66 |EImRK =8 & 3 13/ I 23.10
67 |BUBRXK sE = 3 1MF E 23.10
68 | KEKX = MR 3 14 fZ)I] 21.30
69 | XKEX £k %L 3 45 = 3 22.00
70 | SBREX R 2 15% 8 23.08
711 [FEINX RH hg 2 14 fZ)I] 24.24
72 [EJX o ks 3 13K = 24.50
73 |EJIX ¥0O f1 3 1B E 22.20
74 XK =8 1 13 &= 22.80
75 |[FX ]} EF 1 13 = 22.08
76 | K JIlLE B 4 20K 5 21.25
77 FREX =45 hE 1 01 dtimE 22.79
78 [BRIEX B2A KL 1 43 FE K 22.41
79 [FREX LES Kk 2 13F &= 22.05
80 [FIEXK AE BE 3 23T A0 21.54
81 |HFEX AH s 1 16 & LU 23.04
82 |WEK nE B2 1 02F & 22.20
83 |HWEmEK BH S%EE 2 1Mz £ 23.33
84 |HWEK frER —45 2 108 & 22.16
85 |BEX AR SF 3 13F &= 23.50
86 |HBEX FHA B+ 3 138 = 23.30
87 |EEX He =it 2 13 &= 22.11
88 |#EtEX BHF mE 1 14 fHZE)I] 22.30
89 [EXK He &KX 1 12F F 24.10
90 |E@HXK £k EF 1 13H &= 23.35
91 |HZHSNK &% ESR 1 1842 H 24.50
92 W4 XK BEK IRk 1 12 F & 24.90
93 |HZFEK =EH KX 1 108 B 22.69
94 |HEKX EB8IN & 2 20E % 22.05
95 |[EZEX HE T 2 158 &5 22.98
96 |FZFKX HNE FX 2 19 1 3! 22.99
97 |EZF KR R £= M 11 E 22.50
98 |HEX ER IFifB 2 14 #ZI| 22.20
99 |EHIK FmIE BA 3 13 &= 22.52
100 [T X X & 3 14 ]I 22.41
101 |EET KPR FF BSE M 13 = 23.71
102 (&K HE BX 1 14 #Z=]I| 23.12
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103 [#HK 1 13 = 24.50
104 | K 2 14 f)1] 24.00
105 [HEX 1 3R = 22.60
106 |REKX 3 11B E 22.70
107 |REI XK 2 138 = 23.70
108 |REI X 2 138 = 23.40
109 |ERIEX 1 13 I 22.80
110 |[FREX 1 12 F F 24.30
111 [FREX 1 12 F EF 23.00
112 [FREX 2 115 £ 22.25
113 [FREX 2 108 & 22.70
114 |[FREX 2 24= & 24.00
115 |[FREX 2 12 F E 22.26
116 |FRIEX 3 14 #ZE)N 22.70
117 [FREFEX 3 178 23.00
118 |H¥X 2 13/ I 22.20
119 [FREFEX 2 1MiF E 22.80
120 |FREFEKX 2 43 fE X 21.59
121 |HFEXK 2 15% 8 22.75
122 |HFEX 2 23 & 22.65
123 |HEFEX 3 13H = 22.65
124 |HFXK 3 06 LU 23.00
125 |HFXK 3 1M E 23.00
126 |[—#5 3 40 12 ¥ 23.09
127 &K 1 12F F 21.80
128 &K 1 5% 8 21.78
129 [KEX 2 12F F 23.49
130 [BHZX 2 133/ K 22.60
131 |BZ XK 2 13 = 24.00
132 |BHZX 3 14 #85)1| 21.80
133 |BZ K 4 13 = 24.00
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